Quiz 2 solutions

EXERCISE 1:
$$f(u,v) = f(u) \cdot f(v) = \frac{1}{2n} e^{-\frac{1}{2n} \frac{1}{2n} \frac{1}{2n}}$$

$$f(u,v) = f(u) \cdot f(v) = \frac{1}{2n} e^{-\frac{1}{2n} \frac{1}{2n} \frac{1}{2n}}$$

$$f(u,v) = \frac{1}{2n} e^{-\frac{1}{2n} \frac{1}{2n} \frac{1}{2n} \frac{1}{2n}}$$

$$f(u,v) = \frac{1}{2n} e^{-\frac{1}{2n} \frac{1}{2n} \frac{1}{2n} \frac{1}{2n} \frac{1}{2n}}$$

$$f(u,v) = \frac{1}{2n} e^{-\frac{1}{2n} \frac{1}{2n} \frac{1}{2n} \frac{1}{2n} \frac{1}{2n}}$$

$$f(u,v) = \frac{1}{2n} e^{-\frac{1}{2n} \frac{1}{2n} \frac{1$$

Mai(t) = (1-2t) e MOMENT CENTRATIVE purction of NOW-CENTRAL X UITH DEARLES of Fethor $M_{\gamma}(t) = M_{\alpha_{i}}(t) - M_{\alpha_{k}}(t)$ AND NON CENTRALY PARAMETER Oi. = (1-2t) e LET Y(H) = M/7/H) = - 5/1. M(1-74) + 1-1+ \$0. 4(+)/LO GIES THE MAN -> EPI+SO: ((+)) to GIVET THE MARIANCE -> 2(EP; +250;) OR EY = E (0,+-++ 0k) TEO1 + ... EQE BELAUSE AM) MR (Y) = MR(Q+ -++ Qx) Q1, ~, QK = MR (O) + 1. F MAR (QK) ARE IND POPUDENT. FIM Edi AM VAR(O1) USING Mai (+).

Exercise 3

(a).
$$M_{\kappa}(\xi) = (P_1e + P_2e + \dots + P_re)$$

$$M_{\kappa}(\xi) = M_{\kappa}(\xi_1, 0, 0, \dots, 0) = (P_1e + P_2 + \dots + P_r)$$

$$= (P_1e + 1 - P_1) \rightarrow \chi_1 \sim b(n, P_1)$$

$$= (\chi) = E(\chi) = E(\chi)$$
(b). $E(\chi) = E(\chi) = M_{\kappa}(\chi)$

MATRIX OF X:

THE VARIANCES ARE NP: (i-Pi),
$$c=1,-1,r$$

THE VARIANCES USE THE COROLLARY ON TOWN MGF.

FUR THE CONARIANCES USE THE COROLLARY ON TOWN MGF.

 $\forall i(t) = \frac{n \, Pi \, Q^{-1}}{l_1 \, Q^{-1}} \quad \text{And} \quad \forall i'_1(t) = \frac{-l_2 \, e^{-1} \, n \, Pi \, Q^{-1}}{(l_1 \, Q^{-1} + \cdots + l_r \, Q^{-1})^2}$
 $\therefore \, \forall i_1(0) = Cor(Xi, Xi) = -n \, Pi \, P_i$.

Exercise 4

$$X: \sim exp(\frac{1}{i\theta}) \rightarrow M_{Xi}(t) = (1-i\theta t)'$$

$$Let \quad \hat{\theta} = \sum_{i=1}^{N} \frac{X_i'}{N_i}$$

$$M_{\hat{\theta}}(t) = M_{\frac{N}{2}}(t), M_{\frac{N}{2}}(t) - \dots M_{\frac{N}{N}}(t)$$

$$M_{\hat{\theta}}(t) = M_{\frac{N}{2}}(t), M_{\frac{N}{2}}(t) - \dots M_{\frac{N}{N}}(t)$$

$$= \int_{X_{1}}^{X_{1}} \left(\frac{1}{x_{1}}\right) \cdot \int_{X_{1}}^{X_{1}} \left(\frac{1}{x_{1}}\right)^{2} - \int_{X_{1}}^{X_{1}} \left(\frac{1}{x_{1}}\right)^{2} \\
= \left(1 - 0 + \frac{1}{x_{1}}\right)^{2} - \left(1 - \frac{1}{x_{1}}\right)^{2} \\
= \left(1 - \frac{1}{x_{1}}\right)^{2} - \left(1 - \frac{1}{x_{1}}\right)^{2} \\
= \left(1 - \frac{1}{x_{1}}\right)^{2} - \left(1 - \frac{1}{x_{1}}\right)^{2} \\
= \left(1 - \frac{1}{x_{1}}\right)^{2} - \left(1 - \frac{1}{x_{1}}\right)^{2} - \left(1 - \frac{1}{x_{1}}\right)^{2} \\
= \left(1 - \frac{1}{x_{1}}\right)^{2} - \left(1 - \frac{1}{x_{1}}\right)^{2} + \frac{1}{x_{1}} \cdot \left(\frac{1}{x_{1}}\right)^{2} \\
= \left(1 - \frac{1}{x_{1}}\right)^{2} - \left(1 - \frac{1}{x_{1}}\right)^{2} + \frac{1}{x_{1}} \cdot \left(\frac{1}{x_{1}}\right)^{2} \\
= \left(1 - \frac{1}{x_{1}}\right)^{2} - \left(1 - \frac{1}{x_{1}}\right)^{2} + \frac{1}{x_{1}} \cdot \left(\frac{1}{x_{1}}\right)^{2} \\
= \left(1 - \frac{1}{x_{1}}\right)^{2} - \left(1 - \frac{1}{x_{1}}\right)^{2} + \frac{1}{x_{1}} \cdot \left(\frac{1}{x_{1}}\right)^{2} \\
= \left(1 - \frac{1}{x_{1}}\right)^{2} - \left(1 - \frac{1}{x_{1}}\right)^{2} + \frac{1}{x_{1}} \cdot \left(\frac{1}{x_{1}}\right)^{2} \\
= \left(1 - \frac{1}{x_{1}}\right)^{2} - \left(1 - \frac{1}{x_{1}}\right)^{2} + \frac{1}{x_{1}} \cdot \left(\frac{1}{x_{1}}\right)^{2} \\
= \left(1 - \frac{1}{x_{1}}\right)^{2} - \left(1 - \frac{1}{x_{1}}\right)^{2} + \frac{1}{x_{1}} \cdot \left(\frac{1}{x_{1}}\right)^{2} \\
= \left(1 - \frac{1}{x_{1}}\right)^{2} - \left(1 - \frac{1}{x_{1}}\right)^{2} + \frac{1}{x_{1}} \cdot \left(\frac{1}{x_{1}}\right)^{2} \\
= \left(1 - \frac{1}{x_{1}}\right)^{2} - \left(1 - \frac{1}{x_{1}}\right)^{2} + \frac{1}{x_{1}} \cdot \left(\frac{1}{x_{1}}\right)^{2} \\
= \left(1 - \frac{1}{x_{1}}\right)^{2} - \left(1 - \frac{1}{x_{1}}\right)^{2} + \frac{1}{x_{1}} \cdot \left(\frac{1}{x_{1}}\right)^{2} \\
= \left(1 - \frac{1}{x_{1}}\right)^{2} - \left(1 - \frac{1}{x_{1}}\right)^{2} + \frac{1}{x_{1}} \cdot \left(\frac{1}{x_{1}}\right)^{2} \\
= \left(1 - \frac{1}{x_{1}}\right)^{2} - \left(1 - \frac{1}{x_{1}}\right)^{2} + \frac{1}{x_{1}} \cdot \left(\frac{1}{x_{1}}\right)^{2} \\
= \left(1 - \frac{1}{x_{1}}\right)^{2} - \left(1 - \frac{1}{x_{1}}\right)^{2} + \frac{1}{x_{1}} \cdot \left(\frac{1}{x_{1}}\right)^{2} \\
= \left(1 - \frac{1}{x_{1}}\right)^{2} - \left(1 - \frac{1}{x_{1}}\right)^{2} + \frac{1}{x_{1}} \cdot \left(\frac{1}{x_{1}}\right)^{2} \\
= \left(1 - \frac{1}{x_{1}}\right)^{2} - \left(1 - \frac{1}{x_{1}}\right)^{2} + \frac{1}{x_{1}} \cdot \left(\frac{1}{x_{1}}\right)^{2} \\
= \left(1 - \frac{1}{x_{1}}\right)^{2} - \left(1 - \frac{1}{x_{1}}\right)^{2} + \frac{1}{x_{1}} \cdot \left(\frac{1}{x_{1}}\right)^{2} + \frac{1}{x_{1}} \cdot \left(\frac{1}{x_{1}}\right)^{2} \\
= \left(1 - \frac{1}{x_{1}}\right)^{2} - \left(1 - \frac{1}{x_{1}}\right)^{2} + \frac{1}{x_{1}} \cdot \left(\frac{1}{x_{1}}\right)^{2} + \frac{1}{x_{1}} \cdot \left(\frac{1}{x_{1}}\right)^{2} + \frac{1}{x_{1}} \cdot \left(\frac{1}{x_{1}}\right)^{2} + \frac{1}{x_{1}} \cdot \left(\frac{1}{x_{1}}\right)^{2} + \frac{1}{x$$

Exercise 5

EFCISE 5

$$f(x) = \frac{x x^{\alpha-1}}{9^{\alpha}}, \quad x > 0, \quad \theta > 0$$

$$0 < x < 0$$

$$0 < x <$$

and
$$h(x) = 1$$

THREFOREM USING THE FACTORIZATION
THE FACTORIZATION
THE FACTORIZATION U = TKi is A SUFFICIENT SAMISTIC FOR X.